Q@ ANTIN—") Spare parts Hiir=)

PARSEC-C TE ff SB-1(SST-306) |MAYHRE Z3 %6 (20pcs) ¥300
SDP-401K 2AD—RU A — ¥9,000 SB-2(SST-308) |MAYHRXE X3 %8 (20pcs) ¥300
SDP-402K 24h—Ro)va7— v — ¥4,000 SB-5(SST-310) |MAYHXE X3 x 10 (20pcs) ¥300
SDP-403K 20h— AR 20 Py —TvE ¥3,600 SB-6(SST-312) |[MAYHRXE X3 x12 (20pcs) ¥300
SDP-404K 24h—Rr7aVMFRIL—X ¥2500 SB-8(NST-306) |RZ~ANYHIXE X3 %6 (20pcs) ¥300
SDP-405K 20h—Ro o 3—TL—X ¥1,800 SB-9(NST-308) |7hZAYHRXE R3 %8 (20pcs) ¥300
SDP-407K 24H—R )X TyIN—TL—R ¥1,000 SB-10(NST-310) |/hZ A YT RE X3 X 10 (20pcs) ¥300
SDP-408K 24H—R)PRTARIVETL—R | ¥2,500 SB-25(NST-312) |/RA~NYHRE X3 x 12(20pcs) ¥300
SDP-410K 20h—R /88— ¥2 400 SB-12 FyyTER M2 x4 (6pcs) ¥200
SDP-415 F7O A—JL/yK ¥400 SB-13 FrvIER M2 X5 (6pcs) ¥200
SDP-434S 1.2FRP/ AT ) —7RJLE —S(2PCS) ¥700 SB-15 EY)> %25 (5pes) ¥200
SDP-434L 1.2FRP/ AT ) —RJLA —L(2PCS) ¥920 SB-17 RO—E X M3 X 3(5pcs) ¥100
SDP-442 1.2FRPYNH AR 4(2PCS) ¥600 SB-18 RO—E X M3 x 10 (6pcs) ¥300
SDP-417SP FILIRATTY G952 ASSY ¥3,800 SB-26 ElJ>42.0(5pcs) ¥100
SDP-417A ARTTIGH529-A ¥1,400 SB-27 BF40>4vEM3(6pcs) ¥240
SDP-417B ARTTFIVGH9529-B ¥2.000 SB-32 oY% S-3 (6pes) ¥200
SDP-417P RATFTFIVGT OS2 ORR ¥600 SB-34 RT4E > (8pcs) ¥200
SDP-420AL 70-752 a3V E—4H—TIURL ¥2 600 HSB-325 FREA—E X M3 X 25 (4pcs) ¥240
SDP-420AR 70-752a3ILIVE—4S—Y IR ¥2.600 HSB-330 FRE—E X M3 X 30 (4pcs) ¥280
SDP-420AF JOVhE—4—<orJOvy ¥2 400
SDP-420AB JYE—S—<rJOvY ¥2 000
SDP-434A FILE/ Ny T)— KRR M4PCS) ¥1,000
SDP-434P 04 S-39(2PCS) ¥200
SDP-435SP F7ILSF D JLASSY ¥3,800
SDP-435A F9IILAIK(1PCS) ¥1,200
SDP-435SH THORIL %I (1PCS) ¥500
SDP-434K F9 9 I h—HRFL—k(2PCS) ¥600
SDD-305A FILTO— LA /8—F 21— (2pcs) ¥800
SDD-22 HY—RtA/3— ¥600
SDD-400 28— 39 ASSY ¥2 500
SDD-103ABK JARF7 ¥ A H5—(8PCS) ¥460
SDD-117 A FTIASSY ¥9,800
SDD-121 282 b7\ LIANYET075(2pcs) ¥3,000
SDP-416 F7ILSIHRZAR6.7L(2pcs) ¥500
SDP-408BK T—/3—H5—(8pcs) ¥360
SGE-7060 B—2 1399 )L TR60mm ¥360
SDP-59 P 4.38—)L B4 (5pes) ¥680
SDP-60 FJEAR—)L(4pcs) ¥500
SDP-61 FHE>3.18 X 30mm(2pcs) ¥400
SDP-62 TuIS—EPE U (2pcs) ¥360
SDP-66 FUHEVR TS (2pcs) ¥300
SDP-68 ®4.378—)L 3—hk(5pcs) ¥680
SDP-77 FRIRTTITB—2 1394 )L (2pcs) | ¥800
SDP-83 FHAB—2 1397 )L (2pcs) ¥700
SDP-79 XU ETL0.5t(1218) ¥400
SDP-442B TILYTya R—X EE3mm(4pes) | ¥320
SDP-442P 2)arol 4 (4PCS) ¥300
SBB-F630 IS5 VAR TY 5 630(21@) ¥500
SBB-850 N7 850(44#) ¥500
SDP-51 ININ—&IRTARIUE ¥700
SDP-52X R—IL—k ¥400
SDP-52N R—IL—hF b ¥300
SDP-52S R—I—b)T—F— ¥200
SDP-52F 7y a—bERYER—)L ¥400
SDP-53S HR7—Ltyk ¥1,200
SDP-53A YRF—Lh5— ¥600
SGE-7BK FILEH—RI I F(2pcs) ¥700
SGE-72 5.8mmEYK I K (8pcs) ¥400
SGE-73 5.8mm7—)L(8pcs) ¥500 ZART. AT 3 R—IDEE RS
SGE-58 43mmByF Tk ¥400 BREATHIY, 5< LEBAESETHEBEA LTI A,
SGE-5026BK 7 ILIRAF26L(2PCS) ¥540 BIEICOFRIMES [E L R—LAR—SH D BIERSCHEBAT S -
SGE-5028BK FILIRR ~28L(2PCS) ¥540 agz ?51% (<D arxmﬁm;gﬁ T g??fﬁfﬁfi 7(4 f ;;ﬂ'— £z
SGE-14BK M4+4 0>+ vk (5pcs ¥300 D7t 75 : S NS =Sy
SGE-14FBK M4§;‘/;ﬂt: IEI\(‘/F;E“J)HSDCS) ¥350 RETOLMLADY  03-3652-5584

FAXTOERLEHE 03-3652-5579
SGE-910BK M3#75—1t (8pcs) ¥300 A4 VB —Fv k http://www. rc-square. com
SGE-920BK M3715—2t (8pcs) ¥300 BEEDERYB~SRE(REREHR)1000~1800
SGE-4820BK VX7 9 RINFHZ5—2.0t(6pcs) ¥400 ZOMA TS 3 LB | Bl h— AR—UCTIOTECET &L,
SGE-4830BK X TR ILHZ5—3.0t(6pcs) ¥400
TGE-27 d4.8E0O/R—JL O2% (4pcs) ¥700

16

1802-T1



